Problem Set 3

1. (P13 Exer 2.)

(1) SRIEAEA K (80 BT FB i Q(Vd), H d 265 B 74
(2) AR d A& BRICFETREL M H d # d N Q(Vd) # Q(Vd);
(3) Wik K w4k2 Q 11 Galois §5K, sk H Galois .

2. (P13 Exer 6.) # f(z) € Klz] B¥% K i n WATHE 1 ZWH=,
a1, BB AR FRA() = [ (0 —a0)® RETRX f(o) BHIHI

1<r<s<n
(1) Kilk d(f) 2 K hItE;
(2) ¥ f(z) =2"+a,a€Q, /—a¢Q, Kik

d(f) — (_1>n(n—1)/2nnan—1;

(3) B f(x) = 2"+ ax +b & Qla] FARALZ IR, KiE

d(f) — (_1)n(n71)/2<<_1)n71(n . 1)n71an + nnbn71>.
(FE: 2 n=2H3 W, d(f) BIJ 2 RN 3 R 2 TG 5 il ry 00 50).

3. (P14 Exer 8) Wi n # n', n £ 2 (mod 4), n’ # 2 (mod 4), 3KUE Q(¢,) # Q(Cw)-



4. (P14 Exer 9) 4 K = Q(,), W:

(1) 24 n=1 (mod 2) i}, Wre = {¢5, | 0 < k <2n— 1}, |[Wk| = 2n;
(2) 24 n=0 (mod 4) i}, Wi = {C* | 0< k <n—1},|[Wk| =n.
5. (P14 Exer 13) 1% L|K 2%y k. 7T o € L, & WLt

Yo L =L
B pa(B) = ap.

SKAIE

(1) ¢ 7& K-Ja)52s (6] L iR

(2) AR Ay B oo X T E S L RS —4 K-Ep)28 407 1, W)
Nix(a) = det(Ay), Trxe(a) = tr(Ay),

Hrprtr(As) RmIrFE A B

6. (P24 Exer 1) 5Kiif

(1) R o RAREBCEE, W o MEA TR MR AR

(2) & LIK 2895k, W

NL|K(OL) C OKaTL\K(OL) C Ok;

(3) & LIK 2FIHY 5K, a e L, M a € O <= ot K FR/NZTAET

7. (P24 Exer 2) SRUEXT TR UL o, AR n € Z TG no 2 AQHUREL

ii



8. (P24 Exer 3 Dedekind)

(1) B 2° + 22 — 20 + 8 2 Qlz] HIART AL T, T4 0 HHZHAH—A4
R, K =Q(0);

(3) UEW] 0 = % € O, {1,0,0'} J23 K 1y—44EE, 3 H d(K) = 503;
(4) HEWIR TEA o € Ok, {1, o, 0} AT R K fi—41E A

(T;Eéfﬁ: XﬂL/I\ a € Ok, iEEﬁ dK(l,OZaOZQ) %‘WTI%?&)

9. (P24 Exer 4) X T M0 K, ILERE AR ro X, UEH

(—1)"2d(K) > 0.

10. (P24 Exer 5 Stickelberger) X+ 40%, K, iEAH d(K) = 0 53 1(mod 4).

11. (P24 Exer 6) i% 0 & f(x) = 2* + 5z + 4 W—MR, K = Q(0), LM
d(K) = —4- 233,
12. (P24 Exer 7) % p HA R, w=(, K = Q(w).

(1) IEH Ko = Qw +w™h) 22 k BIRSET (H) KR8 sE 12 Ko /Y
TI), I H (Ko : Q) = 25

(2) ] Ok, = Zjw+w™], HFH {w+w w2+ w2, ... Wl /2 4 -r-D/2) 3
i Ko 1)— 2

(3) THEI Ko = Q(¢r + §7_1) ) 51 =

il



13. (P35 Exer 2) #% A fl B & Dedekind ¥3¥f R JpgpiHAE, A = p§t - per,
B=pl o pl Hrpoop, B R OREIMZEBR, T e, f; >0, UEH,

(1) AB <= & < fi. (1<i<r);

(2) ANB = pi---ppr, t; = max(e;, fi), (1 <@ < 7); A+ B = pi"---p,
m; = min(e;, f;), (1 <i<r).

14. (P35 Exer 3) #% A M0 K 1433048, 1EH]
Al ={a e K |aAC Ok}
15. (P35 Exer 6) #% A Ml B 2%08 K #1248
(1) UEMFY A[B, W N (A)| Nk (B). s Bad R 245 ior?
(2) & Ni(A) NRE UEH] A W2h Ok BYZRBAE. i Soad R g 75 iar?

16. (P35 Exer 7) #% A @2%0# K WFAE, A = pf'---por 2 A WERFAEH R,
PA (O /A) FoRA R O /A WEBARE, 2 o(A) = [(Ok/A)*|, UEW,

(1) o(pi*) = N (ps) (N (pi) — 1);

(2) ¢(A) = Nk(4)-[J(1 -

plA

NP

17. (P36 Exer 8) #% K = Q(), 0% = o + 1. B,

(1) Ok =Z(«);

(2) 230K = p2p,, H p; = (23,0 — 10), ps = (23, — 3);
(3) p1,p2 & O AR R,

(4) Nk(p1) = Nk(p2) = 23.

18. (P36 Exer 9) I i Q(v/10) PigFiAH (2,/10) S7 J FFAH?

v



19. (P36 Exer 10)
(1) & A ZEdE K PR El, Nk (A) =g, KilE g € 4;
(2) WTRAIERELL g, KiE K HiE Ni(A) = g WA A HERRZA

20. (P36 Exer 12) & p N0 K W9RIME, A Ml B 2 K PRm DA, PA
w(A)(= 0) Fom A R T E0H p B3R G p 7R R A 2, 0
vp(A) = 0). UEH,

(1) vp(AB) = 1(A) + 14(B);
(2) w(A+ B) = min(yy(A), vp(B)), (AN B) = max(14(A), 15(B)).

21. (P36 Exer 13) & p MK K HEBE, T 0 # a € Ok, X vp(a) =
I/p(aOK)- ?:FE‘/?\ VP(O) = —|—OO, Eﬂj‘xrj‘ n e Z7 %JII_IJ/—\HE

n+ (+00) = (+00) + (+00) = (+00) - n = (400) - (+00) = +00.
UEWIY a,b € Ok B,
(1) vp(ab) = vp(a)ry(b), vy(a+b) > min(vy(a), v4(b));
(2) 2R vp(a) # 1 (b), W 1p(a + b) = min(vy(a), 1, (b));
(3) W2 vp(a) = vy(b) B, vp(a +b) = min(1g(a), vp(b)) R AL
22. (P87 Exer 3)
(1) SRPATS SE IR SRR 2R 4K
K =Q(Vd)
d=2,3,5,6,7,11,13,14,15,17,19, 21, 22, 23;
(2) SRPAF R I et Fn 2R 4K
K =Q(=d)
d=1,2,3,5,6,7,10,11,13,15,17,19, 23,43, 163;

(3) jzﬁigk K = @(w), WHw+1=0 O FRAE 2 EL.



b 5ee

L& [K:Q=n a€0k, 01,....,0,: K= C2 K EREifirA, it

[[@@—aia)).

=1
IR f(z) € Z[z].
2. KT55 5/ (P14 Exer 13) fI%E 14 @i (P35 Exer 3) W0, X PiE @A B,

A DAVE 8 S, 3 AT R AR b 5 SR S, A G5 andeT < EH 4" Uk,
(R FFRCE M, Pl B4 IR Z well-defined. )

vi



